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Chapter 4 Restructuring
1. Choice of subject

Ex.1 Fear of the bombers had cleared the bay.
AAEHENERIE, 5 LHEHRTAT

2. Sentence reorganizing
A. Word order
Ex.2 From $6.1 billion in 1981, the U.S. deficit with Asia's four tigers last year
reached $37 billion, or 22% of the total U.S. trade deficit.
2B 5N N EGT HiE £ L 1981 FH 61 LR, K535
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B. Inverted order
Ex.3 Little did I then know the meaning of war and what it was in reality.
LI RAERRKEFRFOEXLNBAEF LR LR E2RE
C. Restructuring
Ex.4  The boy was watching the steam rising from the kettle when he conceived an
idea.
AR5 IR AR A B E R IR A T — Nk

3. Conversion of attributive clauses
A. Into adverbials of
- Reasons
Ex.5  Their basic fear is of the slack up of protectionism, and above all,
American capital outflow which to them means job outflows.
AT IR A BB A BT G R X eGok, RAFME
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- Condistions
Ex.6 They amounted to near twenty thousand pounds, which to pay would have
ruined me.

HBEIUFAFF &4, Bt &1L, RIERES = RT.

- Purposes
Ex.7  Unfortunately, every country in the world has trade barriers which are
designed to protect its economy against international market forces.
Wase, HRSEARETH HEL, IMRPARZFRZERT Y
NEHy £

- Results
Ex.8 There was something original, independent, and heroic about the plan that
pleased all of them.
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- Concession

Ex.9 Moscow refused to interpret as a flat rejection the White House reaction to
the Russian proposal, which President George Bush had termed inadequate.
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B. Into appositives
Ex. 10 All the while, George Bush, who was ultimately to benefit from the try
that failed, sat silently by, a nearly forgotten spectator.
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4. Conversion of adverbials
A. of time into

- that of concession

Ex. 11 ... ajoint venture that did not work out may be profitable for the partners
when broken up if the right decisions were made on the purchase of real
estate or the acquisition of the right equipment.
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- that of condition

Ex. 12 When a representative exceeds his allotted time, the President shall call him
to order without delay.
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2.

- others
Ex. 13 Most forecasters believe that unemployment will rise to about 9 percent
before it eases next year.
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B. of conditions into that of concession
Ex. 14 If he actually did commit the crime, he wouldn't be punished.
B R B e T R, RS ZEEN

5. Conversion of comparatives
A. Conversion of the original degree
Ex. 15 When it comes to reporting earnings, the U.S. companies have about as much
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credibility these days as the judges of Olympic figure skating.
BB e fTIRE I E, £ E A E) de b0 15 AR LB & E e fLARF ok
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Ex. 16 Exporting countries, in general, are expanding cotton exports this season as

much as their cotton supplies will permit.
— kB, BuBEAFEEAERLL N RAPIAY KARLE 2

B. Conversion of the comparative degree expressing
- Difference
Ex. 17 Many dealers face the future with more confidence than they have
exhibited in the years past.
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- Comparison
Ex. 18 The officials here said the present differences were due less to any
ideological reason than to nationalistic feelings.
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- Identity

Ex. 19 I don't think that Russian policy is formed that way any more than our policy
is formed.
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- Preference

Ex. 20 In fact, you could say that McDonald’s is really more of a landlord than a
conventional fast-food chain.
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- Emphasis
Ex. 21 Reagan was more than cordial to Ford as they met for 65 minutes.
FExTASAP R T, ZARM AR RIFHBIF

- Emphamism
Ex. 22 The President had done no more than support "continuing study of the
problem".
BGAURR $ 3 R XA N Mo

6. Conversion of superlative degree expressing
- Emphasis
Ex. 23 It is a most important problem.
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R =N+ 5T 2P the most important

I should do it with the greatest pleasure.
KAEF R BB F

Ex. 24

7. Multiples in translation
A. Increase (base - 1)

N times as many (much) as,
N times more than,

increase N times/folds, increase by (to) N times

Ex. 25 The attitude of the consumer toward your product may change if he feels ice
cream is twice as expensive at home as it is somewhere else.
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B. Decrease

reduce (decrease) N times as many (much) as,
N times fewer (less) than,

decrease N times, decrease by N times, N-fold reduction

Ex. 26 The product cost decreased three times.
A RATER| R R =52 — Ry T ZHZ =

8. Conversion of appositives

Ex. 27 Simply by raising the price of oil, a good we import in large quantities, he
can damage the U.S. economy.
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9. Summary




